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WEST BENGAL STATE UNIVERSITY

ENVSAEC01T-ENVIRONMENTAL STUDIES

SET-I

Time Allotted: 1 Hour Full Marks: 20

L Instruction J

On the OMR Answer Sheet write the Registration No. and write & darken the circle/bubble of Roll No./Course/
Question Booklet Set. No entry / wrong entry of the above will lead to cancellation of papers for which the candidate will
be solely responsible.

Each question has four alternative answers. The candidate has to darken only one circle/bubble on the Answer-
Sheet using black/blue ballpoint pen indicating the correct answer as shown below. If more than one answer / option is
found darkened, then the answer will be treated as cancelled.

OMR Answer-Sheets will be preserved for a period of six months only from the date of result publication.

Example : ® O OO

Answer all questions from the following 1x20 =20
e Wl evie Ted we
1. Nitrogen content of the atmosphere is about
(A) 90% (B) 78% (C) 70% (D) None of these
(A) 0% (B) v % (C) 0% (D) @2 7
2. Full form of CNG is
(A) Common National Gas (B) Compressed Natural Gas
(C) Common Natural Gas (D) Certified Natural Gas
CNG -<3 35 &g ==
(A) I« FrN=IET (B) F2C FIGRIET A7
(C) T34 TG 7 (D) ABFIIS ERE S5
3. Which is called ‘Power house of the cell’?
(A) Lysosome (B) Ribosomes (C) Golgibodies (D) Mitochondria
‘@I e I NI ?
(A) FRECEN (B) TAICEATH (C) *ferfaafe (D) TRCeigE
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4. To make food, green plants require
(A) Chemical energy (B) Mechanical energy
(C) Light energy (D) None of these
A e sfe  (B) T & (C) oeT =& (D) P52 71
5. Which one of the following is responsible for maximum air Pollution?
(A) Chemical fertiliser (B) Bio fertiliser
(C) Pesticide (D) Petrol-Diesel driven transport
frafeReefm Sy agvEer s s[iters @R 7t @ 9
(A) T 3R (B) t&r33117
(C) Foam=s (D) cofctiet freret sifers =ifdaza
6. The famous 3P formula of environment is
(A) Power — Production — Price (B) Population — Poverty — Pollution
(C) Principle of Population Problem (D) Power — Production — Pollution
AT 9 [t 3P 3faf =
(A) NE - (RATCRF - 213 (B) oo - ool - sAferer
(C) Tefersier s Hojremiq &R (D) "N6TR - @R - ~Afere=q
; The famous book ‘Fall of a Sparrow’ is authored by
(A) Rachel Carson (B) Salim Ali
(C) Gopal Bhattacharyya (D) BibhutiBhusan Bandopadhyay
fasfeiRe @ wa o @ =fEr @ ke
(A) ToE FBW - (B) e wilfer (C) e eBbrG (D) Refogadt arwifig
8. Ozone hole present in
(A) Troposphere (B) Ionosphere (C) Stratosphere (D) None of these
CCRSER S BT
(A) G- (B) WAIfFTR-a  (C) 2BIFFaE-« (D) FFHE 77
9. Silicosis is caused by
(A) Dust of silica  (B) Coal dust (C) Sulphur dust (D) None of these
fiferciet e e
(A) Bifet dret (B) 3T S0l (C) % &Sl (D) @16 7

10. “Theory of Continental Drift’ was put forwarded by
(A) Charles Darwin (B) Charles Rickter (C) A.L. Wegener (D) Gregor Mendel
TR LG AIS| T
(A) B BRG2R  (B) blep Rikbra (C) Q.97 SR (D) (&N (e
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11.  The names of Baba Amte and Medha Patkar are associated with which of the Environment
Movement in India?
(A) Chipko Movement (B) Silent Valley Movement
(C) Narmada Bachao Movement (D) None of these
IR ST G G #H5FF SRS (@I AR SRR 0%k IS e 9
(A) ool sicie= (B) =TS wiifer wcrer=
(C) Tt Jivre STHTET (D) @R
12.  The word Ramsar is related to
(A) Forest Land (B) Grass Land (C) Wetland (D) Desert
PR =i fwlerie @iaba e iy ?
(A) Il (B) g (C) wErg (D) S"Egf
13.  MOoEF means '
(A) Ministry of Forest and Energy (B) Ministry of Environment and Forests
(C) Ministry of Fuel and Energy (D) Management of Environment and Forestry
MOoEF I+
(A) fifafE ow T=6 g qAife (B) FfAfE o qFSITAGEG @ FEHH
(C) R & Fre gw qaife (D) SILAGTIT OF GASITIACTT I FRG!
14. Which of the following is a renewable natural resource?
(A) Forest (B) Minerals (C) Petroleum (D) Natural Gas
fAefeiRe eigfes srimafem g @HD swsaAead @iy 2
(A) FMES (B) e 7w (C) coitaferars (D) 2= M7t
15.  Which is not a gaseous cycle?
(A) Carbon (B) Phosphorus (C) Nitrogen (D) Oxygen
1AM A 5&F =7 9
(A) TR (B) THFAMA (C) FIZBICS (D) =
16.  The energy flow in Ecosystem is
(A) One-way (B) Two-way (C) Three-way (D) None of these
AgerE *fea eRR
(A) & - (B) fegd © fox (D) (PR
17.  Which of the following is a non-biodegradable pollutant?
(A) Organic Waste (B) Electronic Waste (C) Night Soil (D) None of these
@i i T otica Rwtfers =t 2
(A) (3R 3% (B) @gyfew 3 (C) IZH Hwe (D) @12 91
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18.

19.

20.

1201

The amount of solar radiation reaching the surface of the earth is called

.(A) Solar flux (B) Reflected light (C) Minerals

*RA “Pret (e G [ifvadt sifmeis e =
(A) G’ T (B) Rewcze =% (C) fmize™

The animal which consumes decaying organic matter is

(A) Carnivore (B) Detritivore (C) Herbivore
(A) Fifrer (B) ceftfbrem (C) TRcerm
Disease caused by protozoa is

(A) Bacillary Dysentery (B) Amoebiasis
(C) Typhoid (D) Jaundice
Gelicoice 9ibe st 2

(A) IFeR e (B) kRt (C) PiETww

X

(D) Solvents

(D) FETCTHH

(D) Producers

(D) Teofins

(D) &fen




